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Czeé¢ 1: TEST

1) b
2) d
3) a
4) b
5) a
6) d
7) b
8) a
9) d
10)a

Czes¢ 2: ZADANIA

Uwaga!

Rozwigzanie moze réznic sie od Twojego tylko sposobem zapisu i przeksztatcenia funkcji.
1) 2In|x+5/-In|x-1+C

121

20

3) injax—1+3injax+3+C

2) In|x—9|—;—(l)ln|x+]4+c

4) In|x+2-In|x+1]+C

) infx-3-Infx-1+C

6) 2In|x+5—-In|x-1+C
7) Linx—g-Linx+2+c
6 6

8) ——>+C

9) —=In|x-1+
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11) iarctg 4X—JF1+C

B

12) —Sarcig 2t ¢

RN
2 1, 12

13)gln‘5x +6x+2‘—garctg(5x+3)+c

14) %In|x+2|—%ln|x—]4+c

15) %xz+3x+8|n|x—3|—3|n|x+2|+C

)ix7—ix5+ 4 o 8 x+8‘1oarctg\/§X+C
105~ 125 375 625 3125 J2
2 2x+1
17) X+ —=arctg ———In|x* + x+1+C
) x+-arcty =2 | 1

18) ZIn|x—4|~TIn|x—3+ = In[x+1+C
5 4 20
19) 2 In[x—3/~ 2 In[x—1+ S In[x+1+ 2In[x+3)+C
24 4 8 3
3
20) 3In|x|—§ln‘x2 +]4+C

. 72x° +108x + 44
3(x+1)3

+8In|x+1]+C

2X+1

N

22) _L arctg

N

—In|x|+lln‘x2+x+1‘—£+c
2 X

KONIEC
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